

(#1) BIG TICTURE This is the final part of My asymptotics trilogy. As usual, My focus is on  $\overline{X}_N$ , the ML estimator for  $\mu$ .  $(\alpha)$ We discuss asymptotic efficiency. that is, that of "CAN" estimators, which one is "Best"?" Once we understand asymptotic efficiency, we will look at a very nice theorem on what I will call: ( ک ) The asymptotic gorgeousness of MLE." It is exactly the regult on page 59 (i.e. Section 22) of Vassilis' "Supplementary Technical Notes". This will help the all the basics together for you and help complete my tribay. (Reminder: Partli) LLN, Part(ii) (LT, Part (iii) (RLB)

(#2) Asymptotic EFFICIENCY  
- We saw in "gentle intro" that 
$$\mu_{MLE} := \bar{x}_N$$
 Was an (asymptotically)  
unbiased estimator for  $\mu$   
- Following on from this, let's related our altertian now to (asymptotically)  
unbiased estimators. Even so, there are millions...  
eg.  $E(\bar{x}_N) = \mu$  for any N;  $E(\bar{x}_7) = \mu$  for any N  
- Obviously,  $\bar{x}_N$  is a R.N. We've looked at its first moment properties  
(location), so perhaps now we can think about its decand moment properties  
(location). Maybe  $\bar{x}_N$  is preferable to some other (asymptotically)  
unbiased estimator because its variance is lower?  
Indeed,  $Var(\bar{x}_N) = \hat{\sigma}/N$   
And  $Var(\bar{x}_7) = \hat{\sigma} > \hat{\sigma}/N$ ,  $N > 7$ . Jeans thus check "again.

IN OTHER HORDS BASED ON THE VARIANCE CRITERION, 12 X, THE BEST "?

HOW CAN WE ANSUER THE ABOVE QUESTION WITHOUT COMPARING Var (Xn) WITH ALL THE VARIANCES OF EVERY SINGLE (ASYMPTOTICALLY) UNBIASES ESTIMATOR IN THE ENTIRE UNIVERSE ?!

Alas, how can one ever claim that  $\bar{x}_N$  is the "best" for  $m^7$ . Mes my friends, domeone figured it out! Impressive, huh?! Enter rockstars Cramér and Rao...

(#3) CRLR  
Theorem. let 
$$Y_i \stackrel{\text{ID}}{\longrightarrow} F_i[\theta]$$
 for  $\theta \in \mathbb{R}$  and  $i=1,...,N$ . Let  $U_n = h(Y)$   
s.t.  $E[U_N] = \theta$ . Under mild regularity conditions,  
 $Var(U_N) \ge \frac{1}{Y(\theta_i Y)}$ ,  
 $Var(U_N) \ge \frac{1}{Y(\theta_i Y)}$ ,  
 $Where Y[\theta_i Y] := -E\left[ \begin{array}{c} \partial_i U(\theta_i Y) \\ \partial_i \theta \end{array} \right]$ .  
[Note: In the IID case, we have  $Y[\theta_i Y] = NY(\theta_i Y_i)$ .]  
"Sigh, Raguir, you're really pushing me to my limits now."  
Folks, I know... forry... just let me finish the proof and I'll help make  
everything click into place. If you're come this for don't  
give up just yet! The proof is Nothing more than a  
Very quick Application of the lawaly. Schwarz inequality.

$$\begin{aligned} & \operatorname{Proof.} \quad \operatorname{The} \ (\operatorname{auchy} \operatorname{-Cchwarz} \ \operatorname{inequality} \ \operatorname{implies} \ \operatorname{that} \ \operatorname{for} \ \operatorname{Rus} \ P_{,Q}, \\ & \left(\operatorname{Cov}(\operatorname{P}_{,Q})\right)^{2} \leq \operatorname{Var}(\operatorname{P}) \ \operatorname{Var}(\operatorname{Q}) \ . \\ & \operatorname{Iet} \ \operatorname{P:=} \ U_{N} \ \text{ad} \ Q := d\left(\operatorname{O}_{;} \operatorname{y}\right) \ . \ \operatorname{Then}, \\ & \operatorname{Var}(\operatorname{Un}) \geqslant \left(\operatorname{Cov}\left(\operatorname{U}_{N}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right)^{2} \ . \\ & \operatorname{Var}(\operatorname{Un}) \geqslant \left(\operatorname{Cov}\left(\operatorname{U}_{N}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right)^{2} \ . \\ & \operatorname{Var}(\operatorname{Un}) \geqslant \left(\operatorname{Cov}\left(\operatorname{U}_{N}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right) = \operatorname{E}\left[\operatorname{U}_{N} \cdot d\left(\operatorname{O}_{;} \operatorname{y}\right)\right] \\ & \operatorname{Var}\left[d\left(\operatorname{O}_{;} \operatorname{y}\right)\right] = \operatorname{Implies} \left[\operatorname{Implies} \left(\operatorname{Un}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right] = \operatorname{Implies} \left[\operatorname{Implies} \left(\operatorname{Un}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \left(\operatorname{Un}, d\left(\operatorname{O}_{;} \operatorname{y}\right)\right)\right] = \operatorname{Implies} \left[\operatorname{Implies} \left(\operatorname{Implies} d\operatorname{Implies}\right) + \operatorname{Implies} \left[\operatorname{Implies} d\operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} d\left(\operatorname{O}_{;} \operatorname{Y}\right)\right] + \operatorname{Implies} \left[\operatorname{Implies} d\operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} d\operatorname{Implies}\right] = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} d\operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies} \operatorname{Implies}\right] \\ & = \operatorname{Implies} \left[\operatorname{Implies} \operatorname{Implies} \operatorname{Impli$$

Next, notice that  

$$\underline{T}(0; y) := -E\left[ \underbrace{\Im}_{\partial 0}(0; y) \right] = -E\left[ \underbrace{\Im}_{\partial 0}^{2}(0, y) \right] = E\left[ \underbrace{\Im}_{\partial 0}^{2}(0; y) \right] = E\left[ \underbrace{\Im}_{\partial 0}^{2}(0; y) \right] = E\left[ \underbrace{\Im}_{\partial 0}^{2}(0; y) \right]$$

$$= Var(\underline{A0}; y)$$

because  $O = \frac{\partial}{\partial \theta} E \left[ \lambda(\theta, y) \right] = \frac{\partial}{\partial \theta} \int_{\mathbb{R}^{N}} \lambda(\theta, y) f_{y}(\theta) \, dy = \int_{\mathbb{R}^{N}} \frac{\partial}{\partial \theta} \lambda(\theta, y) f_{y}(\theta) \, dy$ = [RN [ A[0;y]] f (0) + f (0) 2 x (0;y) dy  $= \int_{\mathbb{R}^{N}} \left[ A[0;y]^{2} \int_{Y}(0) + \frac{2}{30} A[0;y] \int_{Y}(0) \right] dy$  $= E \left[ x[0;y] \right] + E \left[ \frac{2}{30} x[0;y] \right].$ This completes the groof.

(#14) IN EAUGLISH, PLEASE, BAGVIR?" - The CRLB is the theoretical lower bound for the variance of any unbiased estimator. - It is given by 1/2(0;y) where 2(0;y) is the Fisher Info. - Of course, I still need to explain I(0; y), and indeed there is quite a lot of intuition to be gained from it: - So what is \$(0;y)? Typically, if we plot J(0,y) against  $\Phi$ , we get a curve with a reak at the maximum. The sharper is the peak, the more is the information about  $\Theta$  that is contained in the sample. This is exactly the Fisher information. Indeed, we dhowed above that it has an interpretation as  $Var \left[ \lambda(\Theta; y) \right]$  and  $\left[ or - E \left[ \frac{\Im^2}{30^2} l(\Theta; y) \right] \right]$ 

(if these are high, what is the implication? Maybe sketch love diggrans?)

(#5) BACK TO OUR ORIGINAL STORY ... Alas, how can one ever claim that  $\bar{x}_N$  is the best of for  $\mu$ ? Mes my fierds, someone figured it out! Impressive, huh?! Enter rockstars Cramér and Rao... V Well now we have a way to alswer this. That is, if Var (XN) is indeed equal to the CRLB, job done There cannot gossibly be another estimator with lower varance. Make Serse?

bet's see how this works ... Recall X; <sup>ID</sup>N(µ, <del>c</del>) for i=1,...,N.  $J(\mu; X) = \prod_{i=1}^{n} \frac{1}{\sqrt{2\pi^2}} \exp\left[-\frac{1}{2\pi^2} (x, -\mu)^2\right]$  $l(\mu; x) = C - \frac{1}{2\pi^2} \sum_{i=1}^{N} (x_i - \mu)^2$ , for some  $C_i$  $s(\mu; x) = \frac{1}{2} \sum_{i=1}^{2} (x_i - \mu)$  $M_{LE} = \int sd(\hat{\mu}_{me}; x) = 0 = \int \sum_{i=1}^{N} x_i - N \hat{\mu}_{me} = 0$ : Mue = XN. hith Var(fine) = o/N. Further  $\frac{\partial}{\partial \mu}(\mu; X) = -N[\sigma^2 < O]$ 

Then, 
$$\mathcal{L}[u; \mathbf{x}] = -E[-N|\sigma^2] = N|\sigma^2$$
, and  
the CRLB is those  $\frac{2}{\sigma}|N$ .  
So, is  $\overline{\mathbf{x}}_N$  "bent"?  
Well, if you agree that  $\frac{2}{\sigma}|N = \frac{2}{\sigma}|N$ , it most certainly is!  
Var $[\overline{\mathbf{x}}_N]$  CRLB

In practice we don't do it this way since it can be tricky in more complex lettings. Instead, we use a result called the Cranér-Rao attainment theorem, but let's not worry about that now. I'm just Mentionizze it in case you encounter it in future studicz.

(#6) ASWRTOTIC OPTIMALITY OF MLE

I'm pashing dome old ST202 notes of mine for you below. If you want additional info here vassilis' notes - the reference is in the first page of this pack.

Mon 9 Nov	€ moodle.lse.ac.uk	중 ֎ ೧≇ 44% ∎
T	HEOREM	
(a)le	$t Y_i \stackrel{\text{"D}}{\sim} F(y_i \theta) \text{ for } i=1,,n ; and$	
(b) L	It $g(\theta)$ be a continuous function of $\theta$ .	
(c)	it's also assume "some weak regularity"	
	(on the differentiability of f(y; (0) and on the	
	ability to intercharge integration and	
	differencianan) THEN	

23:56 Mon 9 Nov 중 @ ∩1 44% ■ moodle.lse.ac.uk THEOREM !  $\dots \text{ as } n \to \infty$  $\operatorname{Jn}\left(g(\theta) - g(\theta)\right) \xrightarrow{d} \operatorname{N}\left(0, \frac{\left[g'(\theta)\right]}{24\theta}\right)$ g'(0` What does this mean? Note: O is the MLE for O.

23:56 Mon 9 Nov ? @ ∩i 44% ■ moodle.lse.ac.uk INTERPRETATION (i) When n is "large":  $g(\hat{\theta}) \xrightarrow{approx} N(g(\theta), [g'(\theta)]^2); \text{ or }$ (ii) When n is "lage":  $g(\hat{\theta}) - g(\theta)$ approx. [g'(0)]<sup>2</sup> 2(0)y

23:56 Mon 9 Nov 중 @ ∩1 44% ■ moodle.lse.ac.uk INTERPRETATION (17) Bias disappears as N=00: ASYMPTOTIC UNBIASEDNESS! Variance Abinks to 0 as N=100 =) Convergence in M.S. => convergence in frob. : CONSISTENCY ! (2) Attainment of CRLB : ASYMPTOTIC EFFICIENCY ! (3) Distribution is Gaussian : ASYMPTOTIC NORMALITY

(#7) THANKS FOR WATCHING!

That completes my asymptotics review folks. I actually put a lot of thought into how to present all this shaff in a logical and helpful (?) way for you all.

Even so my notes will never be a decent inbostitute for proper sources. They merely reflect how I organise this info. in my own mind. Nevertheless, I hope they serve as a decent starting point for you in case you're not confident with asymptotics.

All the best 2[09/11/20)

OPTIONAL PRACTICE QUESTION (STJOZ HOMELOOK LEVEL)

Say Y;  $\overset{W}{\sim}$  Bernoulli (0) for i=1,...,N. (1) Find an alymptotically unbiased & efficient estimator for  $\Theta$ . (2) Construct a 100 (1-x)  $\gtrsim$  C.I. for  $g(\theta) = O((1-\theta)$ . DETAILES JOLNTION BELOW IF YOU NEED IT ...

QUESTION 2(1)  $f_{Y_{i}}(y_{i}) = \begin{cases} 0^{y_{i}}(1-0)^{t-y_{i}}, & y_{i} \in \{0,1\} \\ 0, & \text{otherwise} \end{cases}$ =)  $f_{\gamma}(z)^{\binom{n}{2}} \prod_{i=1}^{n} \Theta^{j_i}(1-\Theta)^{i-j_i}$ =  $\Theta^{\sum_{i=1}^{n} j_i}(1-\Theta)^{n-\sum_{i=1}^{n} j_i}$  $=) l(\theta|y) = \sum_{i=1}^{n} y_i lo_j(\theta) + (n - \sum_{i=1}^{n} y_i) lo_j(1-\theta)$ 

QUESTION 2 (i)  $\cdot \chi(\theta|y) = \frac{\sum_{i=1}^{n} y_i}{\sum_{i=1}^{n} (1-\frac{\sum_{i=1}^{n} y_i}{(1-\theta)})}$ MLE =) A=Y Check for a maximum :  $\frac{\partial \chi(\theta|y)}{\partial \theta} = -\frac{\sum_{i=1}^{n} Y_i}{\sum_{i=1}^{n} \theta^2} - \frac{(\chi - \sum_{i=1}^{n} Y_i)}{(1 - \theta)^2}$ Since  $n \ge \frac{2}{1}$ ,  $\frac{2}{1}$ ,  $\frac{2}{1}$ ,  $\frac{2}{1}$ ,  $\frac{2}{1}$ ,  $\frac{2}{1}$ .

QUELTION 2(i) Given the afore-mentioned theorem,  $\hat{\Theta} = Y$  is is an asymptotically indiased and efficient estimater for O. 22 of 26 QUESTION 2(ii) . Relying again on the ofore-mentioned theorem, we can say that:  $g(\hat{o}) - g(\hat{o})$ approx. N(O,1)  $[5'(0)]^2$  $\mathcal{L}(0|\mathcal{I})$ when n is "large". . let's work out all the individual elements of the above quantity given  $g(0) = \Theta[(1-0)]$ 

QUELTION 2(ii)  $\cdot q(\hat{\theta}) = \hat{\theta} | (1 - \hat{\theta})$ [Recall that this is the ML estimator of g(0) due to the invariance property of ML estimation  $\cdot q(\theta) = \theta(1-\theta) + (1-\theta)^{\dagger}$  $= \frac{\theta}{(1-\theta)^2} + \frac{(1-\theta)^2}{(1-\theta)^2}$  $= 1 (1-0)^{2}$ 

QUESTION 2(11)  $\cdot \Upsilon(\Theta|y) = -E\left[ \Im \chi(\Theta|y) \right]$  $= E \left[ \frac{\sum_{i=1}^{n} y_i}{\sum_{i=1}^{n} + (n - \sum_{i=1}^{n} y_i) \right]$  $= \frac{n\theta}{\theta^2} + \frac{n - n\theta}{(1 - \theta)^2} = \frac{n}{\theta} + \frac{n}{(1 - \theta)}$  $= n \left[ \frac{1}{\theta} + \frac{1}{1-\theta} \right] = \frac{n}{\theta(1-\theta)}$ 

QUESTION 2(11) . In other words, when a is "large",  $\theta(1-\theta) - \theta(1-\theta)$  approx. N(0,1) $\sqrt{\frac{\left[1/(1-\theta)^{2}\right]^{2}}{\left[n/\theta(1-\theta)\right]}}$ · Is this a (useable) givotal quantity for  $\theta[(1-\theta)]?$ 

QUESTION 2(11) . Not quite. We do not know the denominator, Which is the square root of  $\left[\frac{1}{(1-\theta)^4}, \frac{\theta(1-\theta)}{\eta}\right] = \frac{\theta}{\eta(1-\theta)^2}$ since it contains the unknown parameter O. · However, we are working within an asymptotic (1-00) framework and we know that ML is consistent to let's use on ML estimator as an oppoximation

QUESTION 2(ii) So, let's consider  $T = \hat{\Theta} | (1 - \hat{\Theta}) - \Theta | (1 - \hat{\Theta})$ approx. N(0,1)  $\sqrt{\theta} n(1-\theta)^3$ for lage" n as a givotal quantity which we can use to Construct an asymptotically valid 100(1-0)20 C.I. for  $\theta(1-\theta)$ , the unknown odds ratio.

QUESTION 2(ii) . We can find q, and q, 2 s.t. P(q, KTLq2) = 1-X for some X.  $\cdot \ln \operatorname{Particular}, \left\{ Q_1 = Z_{X|2} = -Z_{1-X|2} \right\}$  $q_{1} = Z_{1-x/2}$ (using the N(O,1) dishibution, which is symmetric.)

26 QUESTION 2(ii)  $-Z_{1-\frac{\alpha}{2}} < \frac{\hat{\theta}|(1-\hat{\theta}) - \theta|(1-\theta)}{\sqrt{\hat{\theta}/n(1-\hat{\theta})^{3}}} < Z_{1-\frac{\alpha}{2}}$  $-\frac{Z_{1}}{2}\sqrt{\frac{\hat{\theta}}{n(1-\hat{\theta})^{3}}} < \frac{-\theta}{1-\theta} < \frac{\hat{\theta}}{1-\hat{\theta}} + \frac{Z_{1}}{2}$ -0-1-0 =  $+ Z_{L_{2}} \frac{\hat{\theta}}{\ln(1-\hat{\theta})^{3}} > \frac{\theta}{1-\theta} > \frac{\hat{\theta}}{1-\hat{\theta}}$ · - Ę,× |-, 10/10

QUESTION 2(11) Thus, a 100 (1-x) 20 asymptotic C.I. for 0 (1-0) is :  $\overline{Z}_{1-\underline{x}}$   $\overline{Y}_{1-\underline{y}}$   $\overline{Y}_{1-\underline{y}}$   $\overline{Y}_{1-\underline{y}}$   $\overline{Y}_{1-\underline{y}}$   $\overline{Z}_{1-\underline{x}}$ 15/15